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QUESTION 1
Which of these statements regarding the "oxygen debt" created during heavy exercise is true?

A. Oxygen debt is created due to build-up of acetic acid in the muscles, which needs a high level of oxygen to be
oxidized.

B. Oxygen debt is created due to build-up of lactic acid in the muscles, which needs a high level of oxygen to be
oxidized.

C. Oxygen debt is created due to build-up of lactic acid in the liver, which needs a high level of oxygen to be stored.

D. Oxygen debt is created due to build-up of lactic acid in the muscles, which needs a high level of carbon dioxide to be
oxidized.

Correct Answer: B

QUESTION 2
Spinal muscular atrophy (SMA) is an autosomal recessive disorder.

Knowing this information, what are the chances that a child will not have the recessive allele if both of his parents are
carriers?

A. 100%
B. 0%
C. 50%
D. 25%

Correct Answer: D

QUESTION 3

Which of these groups of physical quantities consists only of scalars?
A. time, velocity, force

B. mass, velocity, acceleration

C. speed, weight, acceleration

D. mass, speed, time

Correct Answer: D

QUESTION 4
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What is the life span and breakdown product of red blood cells?
A. 2 months, biliverdin

B. 4 months, bilirubin.

C. 1 year, oxyhemoglobin

D. 6 months, ammonia

Correct Answer: B

QUESTION 5

What is the function of amylase in the body?
A. It breaks down proteins into amino acids.
B. It breaks down fat into fatty acids.

C. It breaks down starch into simpler sugars.
D. It breaks down fat into glycerol.

Correct Answer: C
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